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Worked Example

1. Integrate the following with rescpect to x.

(z + 2)°

I ° Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wUNECGQ6Qc6A

2. Integrate the following with rescpect to x.

3r +1
2

T

° Watch Video Solution

3. Integrate the following with rescpect to x.

-1

(-7

O Watch Video Solution



https://dl.doubtnut.com/l/_wUNECGQ6Qc6A
https://dl.doubtnut.com/l/_1EWbAQa94rej
https://dl.doubtnut.com/l/_2qQulnpMeJ5v

4. Integrate the following with rescpect to x.

v/ 1+ sin2z

° Watch Video Solution

5. Integrate the following with rescpect to x.

1
1+ coszx

o Watch Video Solution



https://dl.doubtnut.com/l/_GPqI3zmmuBqx
https://dl.doubtnut.com/l/_hjbB6WUnGRi5

6. Integrate the following with respect to x.

1 —cosx
1+ cosx

° Watch Video Solution

7.Integrate the following with respect to x.

tanx secx

° Watch Video Solution



https://dl.doubtnut.com/l/_RpwUBLzdHlKy
https://dl.doubtnut.com/l/_hJVOY5vTOQjA

8. Integrate the following with respect to x.

1

tanx sinx

° Watch Video Solution

9.Integrate the following with respect to x.

(tanz + cot z)*

o Watch Video Solution



https://dl.doubtnut.com/l/_mVqyUFe6Hskt
https://dl.doubtnut.com/l/_AbaFBRx6GykK

10. Integrate the following with respect to x.

COS 2
2

sin” x cos? x

O Watch Video Solution

11. Integrate the following with respect to x.

1

e—m

° Watch Video Solution



https://dl.doubtnut.com/l/_8JeUGOaqmvHr
https://dl.doubtnut.com/l/_qp992RCKoC9m

12. Integrate the following with respect to x.
332 o 2$+1
6$

O Watch Video Solution

13. Integrate the following with respect to x.

T - 2
(eE + eT)

° Watch Video Solution



https://dl.doubtnut.com/l/_f5F4y6VpLMbb
https://dl.doubtnut.com/l/_WLBYwpwRY65k

14. Integrate the following with respect to x.

em+3

° Watch Video Solution

15. Evaluate the following with respect to x.

(3z — 4)°

o Watch Video Solution



https://dl.doubtnut.com/l/_1E1TZcGhxfi3
https://dl.doubtnut.com/l/_k12j06xqPPl4

16. Evaluate the following with respect to x.

v 10 — 3z

° Watch Video Solution

17. Evaluate the following with respect to x.

1

J22x + 1

° Watch Video Solution



https://dl.doubtnut.com/l/_06s5slQ3Q2J2
https://dl.doubtnut.com/l/_GdXqpBfX3WoO

18. Evaluate the following with respect to x.
1
(2z — 1)°

° Watch Video Solution

19. Integrate the following with respect to x.

cos(2z + 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_hlQWGyyR1khi
https://dl.doubtnut.com/l/_TYeOyapGYZGk

20. Integrate the following with respect to x.

sinma cos nx(m > n)

° Watch Video Solution

21. Integrate the following with respect to x.

cos? 5z. sin 2

o View Text Solution



https://dl.doubtnut.com/l/_yoMRNo5X5BDL
https://dl.doubtnut.com/l/_G36dkMoYNgAn

22. Integrate the following with respect to x.

tan(az + b)sec(ax + b)

° Watch Video Solution

23. Integrate the following with respect to x.

cosec’(2 — 3x)

o Watch Video Solution



https://dl.doubtnut.com/l/_CFU61rEdmw4M
https://dl.doubtnut.com/l/_omsoGs0JyQLU

24. Integrate the following with respect to x.

eam—l—b

° Watch Video Solution

25. Integrate the following with respect to x.

Te (z2+5)

o Watch Video Solution



https://dl.doubtnut.com/l/_GYNHT0isQBT7
https://dl.doubtnut.com/l/_VtJih5vDSacP

26. Integrate the following with respect to x.

_zr
2x2 + 3

° Watch Video Solution

27. Integrate the following with respect to x.

1
3z — 5

o Watch Video Solution



https://dl.doubtnut.com/l/_JPFff35HKPYq
https://dl.doubtnut.com/l/_q4caqW8aTqqb

28. Integrate the following with respect to x.

COST — SInx

cos + sinx

° Watch Video Solution

29. Integrate the following with respect to x.

1
x2 4+ 6z + 10

o Watch Video Solution

30. !
\/ 1 — (4z)*


https://dl.doubtnut.com/l/_IphaGAxPxMJE
https://dl.doubtnut.com/l/_Bni7vczQPHJd
https://dl.doubtnut.com/l/_0BURZvFXjTyy

° Watch Video Solution

31. Integrate the following with respect to x.

r+1
x2 +1

O Watch Video Solution

32. Integrate the following with respect to x.

1
V8 + 22 — x2?

° Watch Video Solution



https://dl.doubtnut.com/l/_0BURZvFXjTyy
https://dl.doubtnut.com/l/_aO1PyTjpfBOY
https://dl.doubtnut.com/l/_BFnBfwExHma3
https://dl.doubtnut.com/l/_Ghbz2a6APyUe

33. Integrate the following with respect to x.

2
—— + 2sin2
\/E—I— smw—|—2x+1

° Watch Video Solution

34. Integrate the following with respect to x.

cos 2z — sec’(2z + 1) + ” 13

o Watch Video Solution



https://dl.doubtnut.com/l/_Ghbz2a6APyUe
https://dl.doubtnut.com/l/_PzqOmWSEpktb

35. Integrate the following with respect to x.

1 3 1
+ -

(20 +1)° 92T /1 4y?

° Watch Video Solution

36. Integrate the following with respect to x.

2

2tan(2z + 1)sec(2x + 1) — 3:1:+ " + 522 + 7
T

° Watch Video Solution



https://dl.doubtnut.com/l/_cqUYonu8AAsM
https://dl.doubtnut.com/l/_HMZPOpVCKlmf

37. Given that f’(z) = 4z° — 32* + 2z — 1

find f(z) if £(0) = 0.

° Watch Video Solution

38. The slope of the tangent line of a curve is
given by 23 +4z® —3z + 2. Find the

equation of the curve if it passes through (0,2).

o Watch Video Solution



https://dl.doubtnut.com/l/_W5WuwbRbflYC
https://dl.doubtnut.com/l/_78vt0Xwk0k42

39. The equation of motion is given by
s = 10t* + 60t.
Where s is displacement is kilometre and t is
time in hour find

Velocity and acceleration at any point.

o Watch Video Solution

40. The equation of motion is given by
s = 10t* + 60t.

Where s is displacement is kilometre and t is


https://dl.doubtnut.com/l/_P3YD2psXU5rV
https://dl.doubtnut.com/l/_EVcaq5JZVO0t

time in hour find

Initial velocity.

° Watch Video Solution

41. The equation of motion is given by
s = 10t* + 60t.
Where s is displacement is kilometre and t is
time in hour find

The velocity after 1 hour.

° Watch Video Solution



https://dl.doubtnut.com/l/_EVcaq5JZVO0t
https://dl.doubtnut.com/l/_pTMShCRb1w1U
https://dl.doubtnut.com/l/_cGbOHgJg6NM3

42. The equation of motion is given by
s = 10t* + 60t.
Where s is displacement is kilometre and t is
time in hour find

Distance travelled in 2 hours.

o Watch Video Solution

43. It is observed that a sampling of length 5

cm when plant grow at the rate of cm

vi+1
per day.

find The height of the plant after 3 days.


https://dl.doubtnut.com/l/_cGbOHgJg6NM3
https://dl.doubtnut.com/l/_Voeo8KaSpVTP

° Watch Video Solution

44. 1t is observed that a sampling of length 5

cm when plant grow at the rate of

cm
Vi+1

per day.
find After how many days will the height of the

plant be 11 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_Voeo8KaSpVTP
https://dl.doubtnut.com/l/_GrqEVg0eUnns

45, A person riding a car4 sees a fallen tree in
the road at a distance of 40 meters away from
him. He applies breaks at the rate of 16
metres/second?. If the car was moving at a
speed of 32 m/s when the break is applied,

would it stop before hitting the fallen tree.

o View Text Solution

46. Integrate the following with respect to x.

(1)’

l @S Watch Video Solution I


https://dl.doubtnut.com/l/_Byg4BSC8EJ55
https://dl.doubtnut.com/l/_KEgDW1GJzTPH

47. Integrate the following with respect to x.

x2—x+1

3

° Watch Video Solution

48. Integrate the following with respect to x:

cos bx sin 3x.

° Watch Video Solution



https://dl.doubtnut.com/l/_KEgDW1GJzTPH
https://dl.doubtnut.com/l/_M80IOpvR2WUA
https://dl.doubtnut.com/l/_zRQFhA2S3dlG
https://dl.doubtnut.com/l/_UR73QfMHKgjc

49, Integrate the following with respect to x:

COS3 T

° Watch Video Solution

50. Integrate the following with respect to x:

e 1

ex

° Watch Video Solution

51. Integrate the following with respect to x:

6333 (6250 . 1)


https://dl.doubtnut.com/l/_UR73QfMHKgjc
https://dl.doubtnut.com/l/_B6bdU2LEtOgK
https://dl.doubtnut.com/l/_CGDRXuhTk1iW

° Watch Video Solution

1

52. Evaluate/ > dz.
sin” x cos? x

° Watch Video Solution

sin
53. Evaluate/ - dx
1+ sinx

° Watch Video Solution

54. Evaluate /\/1 + cos 2zdzx.


https://dl.doubtnut.com/l/_CGDRXuhTk1iW
https://dl.doubtnut.com/l/_wcXb0ibafWXi
https://dl.doubtnut.com/l/_DqLilPSV9kEB
https://dl.doubtnut.com/l/_FhS4nF0ksTy9

° Watch Video Solution

2
r — 1)
55. Evaluate /(—da:

x3 + x

° Watch Video Solution

56. Evaluate /(tana: + cot az)zda:

° Watch Video Solution

1 — cosx
57. Evaluate / dx
1+ cosx


https://dl.doubtnut.com/l/_FhS4nF0ksTy9
https://dl.doubtnut.com/l/_ODfIEbSOgsCT
https://dl.doubtnut.com/l/_3rkvXhjmRfuG
https://dl.doubtnut.com/l/_sProLgauAd1P

° Watch Video Solution

58. Evaluate /\/1 + sin2zdz

° Watch Video Solution

319
59. Evaluate /:1: * dz
r—1

° Watch Video Solution

60. Evaluate: /oz“’ e*dx


https://dl.doubtnut.com/l/_sProLgauAd1P
https://dl.doubtnut.com/l/_uWsCMsROgDEY
https://dl.doubtnut.com/l/_kLEHDwX1Xebm
https://dl.doubtnut.com/l/_BtRvfJRJfivZ

° Watch Video Solution

61. Evaluate: /exlogze“’d:c

° Watch Video Solution

62. Evaluate: /(a: — 3)v/x + 2dzx.

° Watch Video Solution

1
63. Evaluate/ dz.
Ve + 1+


https://dl.doubtnut.com/l/_BtRvfJRJfivZ
https://dl.doubtnut.com/l/_lI3zmhKcmH3X
https://dl.doubtnut.com/l/_k5OwbEUY2M8x
https://dl.doubtnut.com/l/_zp8kYImbdt4g

° Watch Video Solution

64. Evaluate:

/ xdx
x2 —b5x + 6

° View Text Solution

65. Evaluate:

/ a:—zl—l dz.
(z — 1) (z + 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_zp8kYImbdt4g
https://dl.doubtnut.com/l/_PfJ9nCIoP2wa
https://dl.doubtnut.com/l/_Q9Enz4E1Wjyk
https://dl.doubtnut.com/l/_2bADnOutCN0Z

66. Evaluate:

2¢ + 1
/(:13 ") (22 + 1) dz

° Watch Video Solution

67. Evaluate:

3
T
/m+1dx.

° Watch Video Solution



https://dl.doubtnut.com/l/_2bADnOutCN0Z
https://dl.doubtnut.com/l/_kEdThyvegFz9

68. Evaluate the following integrals:

/Zm 1+ z%dx

° Watch Video Solution

69. Evaluate the following integrals:

/a_mzxda:

o Watch Video Solution



https://dl.doubtnut.com/l/_Un5z7nAwgs3r
https://dl.doubtnut.com/l/_nT4yaMRy1VaS

70. Evaluate the following integrals:

sin
/ dx
1+ cosx

° Watch Video Solution

71. Evaluate the following integrals:

/ I
dw
]. CU

o Watch Video Solution



https://dl.doubtnut.com/l/_eHyeP2g3wCR8
https://dl.doubtnut.com/l/_MmwuwsuscYNi

72. Evaluate the following integrals:

/az(a _ 2)da

° Watch Video Solution

73. Integrate with respect to x.

/sec rdx

o Watch Video Solution



https://dl.doubtnut.com/l/_YYhMVTKTAwf1
https://dl.doubtnut.com/l/_4TcZdd3Otphz

74.Integrate with respect to x.

/coseca: dx

° Watch Video Solution

Z Z

e’ —e

75.
et +e 7%

° Watch Video Solution

76. Integrate the following with respect to x.
2z — 4
x? —4x + 7

[ 6


https://dl.doubtnut.com/l/_AAH0QtYMnVR7
https://dl.doubtnut.com/l/_tWuxerb4R8vh
https://dl.doubtnut.com/l/_Z2HvG2hJv3J7

\ ° Watch Video Solution

77. Integrate the following with respect to x.

26233

ez — 1

° Watch Video Solution

78. Integrate the following with respect to x.

CoS 2x

coOsx — sinx 2
( )

O Watch Video Solution



https://dl.doubtnut.com/l/_Z2HvG2hJv3J7
https://dl.doubtnut.com/l/_HsVIiE26R7eZ
https://dl.doubtnut.com/l/_sQHsHOLZYDRt
https://dl.doubtnut.com/l/_kBjwvIM7XyGu

79. Integrate the following with respect to x.

2sec’ x + e
2tanx + e*

0 Watch Video Solution

80. Evaluate the following integrals

fnemd:c

° Watch Video Solution



https://dl.doubtnut.com/l/_kBjwvIM7XyGu
https://dl.doubtnut.com/l/_GcPdBsEsTv8u

81. Evaluate the following integrals

/93 cos xdx

° Watch Video Solution

82. Evaluate the following integrals

ﬁog xdx

o Watch Video Solution



https://dl.doubtnut.com/l/_vy34jBzQlaHo
https://dl.doubtnut.com/l/_4XpogBJ3K3a2

83. Evaluate the following integrals

/sin 1 2dx

° Watch Video Solution

2
84. Evaluate ﬁ:an1< * )daz
1 — z2

° Watch Video Solution

85. Integrate with respect to x.

(1326433



https://dl.doubtnut.com/l/_DMQRpWGVXx5t
https://dl.doubtnut.com/l/_G0kOlSuRqDTe
https://dl.doubtnut.com/l/_qkjBMhTjKqhR

\ ° Watch Video Solution

86. Integrate with respect to x.

:Btan_l T

° Watch Video Solution

87. Integrate with respect to x.

z?logx

° Watch Video Solution



https://dl.doubtnut.com/l/_qkjBMhTjKqhR
https://dl.doubtnut.com/l/_LWEYdUkUBx4K
https://dl.doubtnut.com/l/_Yva9JFODcmRx
https://dl.doubtnut.com/l/_AWiXp8UHR3Ks

88. Evaluate the following integrals.

/63“" cos 2zdzx

° Watch Video Solution

89. Evaluate the following integrals.

ﬁz —3% cos 2zdx

° Watch Video Solution



https://dl.doubtnut.com/l/_AWiXp8UHR3Ks
https://dl.doubtnut.com/l/_Pw0ySqQI8Sik

90. Integrate with respect to x.

( )
€
372

O Watch Video Solution

91. Integrate the following with respect to x.

£I32

A

° Watch Video Solution



https://dl.doubtnut.com/l/_cFUelyb8tHj5
https://dl.doubtnut.com/l/_fipOkMivqxpA

92. Integrate the following with respect to x.

1
x2 + 2x + 2

° Watch Video Solution

93. Integrate the following with respect to x.

1

V9 — 4z?

° Watch Video Solution



https://dl.doubtnut.com/l/_4RnrHdDA2oYt
https://dl.doubtnut.com/l/_USjk267TFbKC

94. Integrate the following with respect to x.
1
VAazx? — 20z + 34

° Watch Video Solution

95. Integrate the following with respect to x.

1
/\/x2—|—4m—12

° Watch Video Solution



https://dl.doubtnut.com/l/_M0gyT2PPfE1C
https://dl.doubtnut.com/l/_8loU4wiHfTiI

96. Integrate the following with respect to x.

1
V8 + 2x — x2

° Watch Video Solution

97. Evaluate the following integrals.
1
V2 + 6x — 10

° Watch Video Solution



https://dl.doubtnut.com/l/_AEwdLGDXrLNP
https://dl.doubtnut.com/l/_eIyfc7wszzeS

98. Evaluate the following integrals.

1
x2 4 8x + 32

° Watch Video Solution

99. Evaluate the following integrals.
1
V2 + 2z — 35

° Watch Video Solution



https://dl.doubtnut.com/l/_Fz8GChLkpX8m
https://dl.doubtnut.com/l/_AuNUyf1EsfzK

100. Evaluate the following integrals.
1

5 — 4x — x2

° Watch Video Solution

101. Evaluate the following integrals.

/ 3z +1
3r —x2 — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_bkAeKekPCRQA
https://dl.doubtnut.com/l/_xo71SWCIpXTv

102. Evaluate the following integrals.

/ 2x + 3
dx
x2 +4x + 7

° Watch Video Solution

103. Evaluate the following integrals.
3r + 5
vz +z+1

dzx

° Watch Video Solution



https://dl.doubtnut.com/l/_GnWVPTECieUW
https://dl.doubtnut.com/l/_PYbmnFJAUNJn

104. Evaluate the following integrals.

/ r—1
dr
V2 — 3z +1

O Watch Video Solution

105. Integrate the following integrals.

/\/ 25 — z?dx

° Watch Video Solution



https://dl.doubtnut.com/l/_DpnfFYbg2qHx
https://dl.doubtnut.com/l/_OkQfPN9U7ep0

106. Integrate the following integrals.

/m

° Watch Video Solution

107. Integrate the following integrals.

/\/:cz — 4x + 12dzx

o Watch Video Solution



https://dl.doubtnut.com/l/_psHVflROkeHl
https://dl.doubtnut.com/l/_ypta8XaDgkTE

108. Integrate the following integrals.

/\/(a: ~4)(6 — z)dx

° Watch Video Solution

Solution To Exercise 111

1. Integrate the following with respect to x: zl!

° Watch Video Solution



https://dl.doubtnut.com/l/_mgh5pEyT60pI
https://dl.doubtnut.com/l/_cpFRZcyH9MCf

1
2. Integrate the following with respect to: —
x

° Watch Video Solution

3. Integrate the following with respect to:

3/z*

o Watch Video Solution

4. Integrate the following with respect to :

()



https://dl.doubtnut.com/l/_FgljBgLLkIpR
https://dl.doubtnut.com/l/_OPmQ0gwzAHfd
https://dl.doubtnut.com/l/_2OPbpe6eJenj

O Watch Video Solution

5. Integrate the following with respect to x.

1

sin? x

° Watch Video Solution

6. Integrate the following with respect to x.

tanx

COos T

° Watch Video Solution



https://dl.doubtnut.com/l/_2OPbpe6eJenj
https://dl.doubtnut.com/l/_Uqi7AaYkZpbF
https://dl.doubtnut.com/l/_33PoUiUGOlN6
https://dl.doubtnut.com/l/_at8sWMIJyC9l

7.Integrate the following with respect to x.

COS T

sin? x

° Watch Video Solution

8. Integrate the following with respect to x.

1

cos2 x

° Watch Video Solution

9.Integrate the following with respect to x.

127


https://dl.doubtnut.com/l/_at8sWMIJyC9l
https://dl.doubtnut.com/l/_eGNoEC2d9XG0
https://dl.doubtnut.com/l/_Y0uqijHCO7X3

° Watch Video Solution

3324

10. ﬁ

° Watch Video Solution

11. Integrate the following with respect to x.

el’

° Watch Video Solution



https://dl.doubtnut.com/l/_Y0uqijHCO7X3
https://dl.doubtnut.com/l/_FLSIJ8Bhw3XQ
https://dl.doubtnut.com/l/_OeohTt6ryj8Q

12. Integrate the following with respect to x.

(1 +2%)

° Watch Video Solution

13. Integrate the following with respect to x.

(-3

° Watch Video Solution

Solution To Exercise 11 2


https://dl.doubtnut.com/l/_lYWSPx74oDFb
https://dl.doubtnut.com/l/_lqsfAazG3axi
https://dl.doubtnut.com/l/_1A0ohgl0C8Xo

1. Integrate the following functions with

respect to x: (z 4 5)°

° Watch Video Solution

2. Integrate the following with respect to x.
1
(2 — 3z)*

o Watch Video Solution



https://dl.doubtnut.com/l/_1A0ohgl0C8Xo
https://dl.doubtnut.com/l/_yLZmGKLIU2le

3. Integrate the following with respect to x.

/3T + 2

° Watch Video Solution

4.Integrate the following with respect to x.

sin 3x

o Watch Video Solution



https://dl.doubtnut.com/l/_wgLjl5PqK3Sv
https://dl.doubtnut.com/l/_zXGImP63wKpF

5. Integrate the following with respect to x.

cos(5 — 11z)

° Watch Video Solution

6. Integrate the following with respect to x.

cosec? (5 — 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_zgsymLXDePFM
https://dl.doubtnut.com/l/_9KJRTWHPSNl3

7.Integrate the following with respect to x.

6333—6

° Watch Video Solution

8. Integrate the following with respect to x.

8—Tx

o Watch Video Solution

"6 — 4x



https://dl.doubtnut.com/l/_w4MISB7vC3ER
https://dl.doubtnut.com/l/_3kGmo9T3QiPw
https://dl.doubtnut.com/l/_NSoNe8GLb3go

O Watch Video Solution

10. Integrate the following with respect to x.

T
sec” =
5

° Watch Video Solution

11. Integrate the following with respect to x.

cos ec(bx + 3)cot(5x + 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_NSoNe8GLb3go
https://dl.doubtnut.com/l/_FiMS3u6OU1ya
https://dl.doubtnut.com/l/_GmCIqWkKDvdf
https://dl.doubtnut.com/l/_729Gdr45EQux

12. Integrate the following with respect to x.

30sec(2 — 15z)tan(2 — 15z)

° Watch Video Solution

13. =
\/1 — (4z)?

° Watch Video Solution

1

V1 — 812

14.

° Watch Video Solution



https://dl.doubtnut.com/l/_729Gdr45EQux
https://dl.doubtnut.com/l/_veeRcIGcD0nH
https://dl.doubtnut.com/l/_jKcdZIRrXn5c

15. Integrate the following with respect to x.

1
1+ 36x2

° Watch Video Solution

Solution To Exercise 11 3

1. Integrate the following with respect to x:

— cosec?(3z — 1)

5
@+ 4+ (2 — 5:13)4

° Watch Video Solution



https://dl.doubtnut.com/l/_jKcdZIRrXn5c
https://dl.doubtnut.com/l/_PiZN4IE19k7C
https://dl.doubtnut.com/l/_Ey6CdFR1ptgL

24

2.4cos(5 — 2z) + 9% ~°
cos( x) + e + i

O Watch Video Solution

3. Integrate the following with respect to x.

seczli5 + 18 cos 2z + 10sec(bx + 3)tan(bz + 3)

° Watch Video Solution

27 15

8
4. i T 0.2 1+ 2522
\/1—(43;)2 1 -9z T 2oz



https://dl.doubtnut.com/l/_Ey6CdFR1ptgL
https://dl.doubtnut.com/l/_0lDKC1r6TJvW
https://dl.doubtnut.com/l/_wKHD1gHf1iXn
https://dl.doubtnut.com/l/_pdN9ONJo9JUQ

° Watch Video Solution

6 12
5.

1+(3ac+2)2 N \/1—(3—4:1:)2

° Watch Video Solution

1 T 7 z
6. (——4) 243
3%\ 3 Ty T

° Watch Video Solution

Solution To Exercise 11 4


https://dl.doubtnut.com/l/_pdN9ONJo9JUQ
https://dl.doubtnut.com/l/_XeiSdDAlonc9
https://dl.doubtnut.com/l/_0i6dMlttoqZG

1If f'(x) =4z — 5 and f(2) = 1, find f(x).

° Watch Video Solution

2.1f f'(z) = 92 — 6z and f(0) = — 3, find

f(x)

o Watch Video Solution

3.1ff"(x) =12 x -6 and f(1) =30, f'(1) = 5 find f (x)



https://dl.doubtnut.com/l/_nrDBpdSzirjj
https://dl.doubtnut.com/l/_U3R4ZlCA6mdB
https://dl.doubtnut.com/l/_GzM99Wt3qDQ6

° Watch Video Solution

4. A ball is thrown vertically upward from the
ground with an initial velocity of 39.2 m/sec . If
the only force considered is that attributed to
the acceleration due to gravity find

how high the ball will rise ?

o Watch Video Solution

5. A ball is thrown vertically upward from the

ground with an initial velocity of 39.2 m/sec . If


https://dl.doubtnut.com/l/_GzM99Wt3qDQ6
https://dl.doubtnut.com/l/_WcJQT78zgQ07
https://dl.doubtnut.com/l/_lVXfauH6PXUz

the only force considered is that attributed to
the acceleration due to gravity, find
the speed with which will it strike the ground

and

o Watch Video Solution

6. A ball is thrown vertically upward from the
ground with an initial velocity of 39.2 m/sec . If
the only force considered is that attributed to
the acceleration due to gravity find

how high the ball will rise ?



https://dl.doubtnut.com/l/_lVXfauH6PXUz
https://dl.doubtnut.com/l/_ELBeu7YZ94E2

| & Watch Video Solution

7. A wound is healing in such a way that t days

since Sunday the area of the wound has been

3
decreasing at a rate of — ————cm? per day

(t+2)
where 0 <t < 8 . If on Monday the area of

the wound was 1.4cm?

What was the area of the wound on Sunday ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ELBeu7YZ94E2
https://dl.doubtnut.com/l/_rjjrr79Z1kKn

8. A wound is healing in such a way that t days
since Sunday the area of the wound has been

3
decreasing at a rate of — ————cm? per day

(t + 2)
where 0 < t < 8 . If on Monday the area of

the wound was 1.4cm?
What is the anticipated area of the wound on
Thursday if it contimues to heal at the same

rate ?

° Watch Video Solution

Solution To Exercise 11 5



https://dl.doubtnut.com/l/_W81KEUQlRKPa

1. Integrate the following functions with

respect to x:

3 + 42?2 — 3z + 2
22

° Watch Video Solution

2. Integrate the following functions with

respect to x.

1 2
(ﬁ 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_5TsRMUxQOIbL
https://dl.doubtnut.com/l/_TLztOVK1wrpA

3. Integrate the following functions with

respect to x.

(2z — 5)(36 + 4x)

° Watch Video Solution

4. Integrate the following functions with
respect to x.

cot’ + tan’

° Watch Video Solution



https://dl.doubtnut.com/l/_TLztOVK1wrpA
https://dl.doubtnut.com/l/_ooye2MQdXn7v
https://dl.doubtnut.com/l/_9he5bLSSLHoR

5. Integrate the following functions with

respect to x.

Ccos 2x — cos 2a

COST — COS &

° Watch Video Solution

6. Integrate the following functions with

respect to x.

3+ 4coszx

sin x

° Watch Video Solution



https://dl.doubtnut.com/l/_DqfYmnF0rJtG
https://dl.doubtnut.com/l/_P9ngVXkQVu6v
https://dl.doubtnut.com/l/_iOaVduG7kXIG

7. Integrate the following functions with

respect to x.

sin? x

1+ coszx

° Watch Video Solution

8. Integrate the following functions with

respect to x.

sindx

sin

O Watch Video Solution



https://dl.doubtnut.com/l/_iOaVduG7kXIG
https://dl.doubtnut.com/l/_ScUiYxgqu679
https://dl.doubtnut.com/l/_MVFtybNhSBS8

9. Integrate the following functions with
respect to x.

cos 3x cos 2x.

° Watch Video Solution

10. Integrate the following functions with
respect to x.

sin’ 5z

° Watch Video Solution



https://dl.doubtnut.com/l/_MVFtybNhSBS8
https://dl.doubtnut.com/l/_v8ZqFitIWbZj

11. Integrate the following functions with

respect to x.

1 + cos4x
cotr — tancx

° Watch Video Solution

12. Integrate the following functions with

respect to x.

e log ot

o Watch Video Solution



https://dl.doubtnut.com/l/_wewwQEdO7cc4
https://dl.doubtnut.com/l/_qr8RfGzNuOse
https://dl.doubtnut.com/l/_lhXbRD3dxIA0

13. Integrate the following functions with

respect to x.

(3z + 4)v/3z + 7.

° Watch Video Solution

14. Integrate the following functions with

respect to x.

2213

° Watch Video Solution



https://dl.doubtnut.com/l/_lhXbRD3dxIA0
https://dl.doubtnut.com/l/_441pcI0HP3fB
https://dl.doubtnut.com/l/_VmKGGiXT6yIg

15. Integrate the following functions with

respect to x.

1

VEid vz 1

° Watch Video Solution

z+1

6. (z + 2)(x + 3)

° Watch Video Solution

17. Integrate the following functions with

respect to x.


https://dl.doubtnut.com/l/_VmKGGiXT6yIg
https://dl.doubtnut.com/l/_Cj6XADejhZ2t
https://dl.doubtnut.com/l/_dXMJb94Qp40p

1
(z —1)(z + 2)°

o Watch Video Solution

18. Integrate the following functions with

respect to x.
3z — 9
(z — D(z+2)(z%2+1)

O Watch Video Solution

19. Integrate the following functions with

respect to x.


https://dl.doubtnut.com/l/_dXMJb94Qp40p
https://dl.doubtnut.com/l/_609PjR3AmYzr
https://dl.doubtnut.com/l/_FvnsglkEJuwA

5133

(z — 1)(z — 2)

° Watch Video Solution

Solution To Exercise 11 6

1. Integrate the following with respect to x:

T

V14 x?

° Watch Video Solution



https://dl.doubtnut.com/l/_FvnsglkEJuwA
https://dl.doubtnut.com/l/_8r44GiEPJ0wQ

2. Integrate the following with respect to x.

332

1+ 6

° Watch Video Solution

T i

e’ —e

3.
et +e*%

° Watch Video Solution

4.Integrate the following with respect to x.

10z° + 107 log, 10
10* + 10



https://dl.doubtnut.com/l/_CpzcUEuWBriS
https://dl.doubtnut.com/l/_7qFxRJ5Wdavw
https://dl.doubtnut.com/l/_Q5RySLd4wrvN

° Watch Video Solution

sin /x
NZ

5.

° Watch Video Solution

cot x

" log(sinz)

° Watch Video Solution



https://dl.doubtnut.com/l/_Q5RySLd4wrvN
https://dl.doubtnut.com/l/_V2T2ETw9Hym8
https://dl.doubtnut.com/l/_3Xf3cn1HCYZ2

COS eCcT
7

log (tan%)

° Watch Video Solution

8. Integrate the following with respect to x.

sin 2x

a2 4+ b2sin’z

° Watch Video Solution



https://dl.doubtnut.com/l/_4lgppeRISliM
https://dl.doubtnut.com/l/_WPGHyVYiy2O8

9. Integrate the following with respect to x.

S11 1CC

V1 — x2

° Watch Video Solution

10. Integrate the following with respect to x.

G
1+ /z

° Watch Video Solution



https://dl.doubtnut.com/l/_NiLFBvteS1iw
https://dl.doubtnut.com/l/_JMJTBPrBM1iA

11. Integrate the following with respect to x.

1
z log x log(log x)

° Watch Video Solution

12. afz® le P

° Watch Video Solution

13. Integrate the following with respect to x.

tanx./secx



https://dl.doubtnut.com/l/_AmfGGKv7Qq8B
https://dl.doubtnut.com/l/_B1QOOVZnDzut
https://dl.doubtnut.com/l/_1YeuUd4diwVA

\ ° Watch Video Solution

14. Integrate the following with respect to x.

z(1—z)"

° Watch Video Solution

15. Integrate the following with respect to x.

sin® z cos® z.

° Watch Video Solution



https://dl.doubtnut.com/l/_1YeuUd4diwVA
https://dl.doubtnut.com/l/_TixdrAA4vo4G
https://dl.doubtnut.com/l/_qX6gSm7CQ5Ee

Solution To Exercise 11 7

1. Integrate the following with respect to x.

Oz e>”

° Watch Video Solution

2. Integrate the following with respect to x.

T sin 3x

° Watch Video Solution



https://dl.doubtnut.com/l/_DEISpSsVD2CD
https://dl.doubtnut.com/l/_VmqOdCAiRUzH
https://dl.doubtnut.com/l/_Kmejc22e7chC

3. Integrate the following with respect to x.

25ze %

° Watch Video Solution

4. Integrate the following with respect to x.

rsecxrtanx

° Watch Video Solution

5. Integrate the following with respect to x.

xlogzx


https://dl.doubtnut.com/l/_Kmejc22e7chC
https://dl.doubtnut.com/l/_aDfxPqcW3K86
https://dl.doubtnut.com/l/_pAdz4n2COwFf

° Watch Video Solution

6. Integrate the following with respect to x.

.’,U2 COS T

O Watch Video Solution

7.Integrate the following with respect to x.

r3sinz

° Watch Video Solution



https://dl.doubtnut.com/l/_pAdz4n2COwFf
https://dl.doubtnut.com/l/_9qGznMhYP2eZ
https://dl.doubtnut.com/l/_Nm30VxMgRNFS
https://dl.doubtnut.com/l/_DcjAxAf6xwcK

8. Integrate the following with respect to x.

o1

sin” " x
V1—z2

° Watch Video Solution

9. %"

° Watch Video Solution

8
10.tan ! ( v )
1 — 1622

° Watch Video Solution



https://dl.doubtnut.com/l/_DcjAxAf6xwcK
https://dl.doubtnut.com/l/_ok4MqIC2jToq
https://dl.doubtnut.com/l/_6d8X2oqjyafm

11. Integrate the following with respect to x.

sin
14 2

o Watch Video Solution

Solution To Exercise 11 8

1. Integrate the following with respect to x:

e cos bx

° Watch Video Solution



https://dl.doubtnut.com/l/_6d8X2oqjyafm
https://dl.doubtnut.com/l/_mDWjknTDocV2
https://dl.doubtnut.com/l/_dYun0TSfh7zS

2. Integrate the following with respect to x.

e?® sin x

° Watch Video Solution

3. Integrate the following with respect to x:

e ¥ cos2x

o Watch Video Solution



https://dl.doubtnut.com/l/_dYun0TSfh7zS
https://dl.doubtnut.com/l/_ibA3XDu9WHWF
https://dl.doubtnut.com/l/_TAKZwTmUGxyx

4.e 3% sin 22

° Watch Video Solution

5.e % gin 22

° Watch Video Solution

6. Integrate the following with respect to x.

e 3% cos z.

° Watch Video Solution



https://dl.doubtnut.com/l/_x2cti7emb3BL
https://dl.doubtnut.com/l/_gbu7pTKaRzVx
https://dl.doubtnut.com/l/_qG5PgFUSTfMW

Solution To Exercise 119

1. Integrate the following with respect to x:

e’ (tanz + logsecx)

° Watch Video Solution

2. Integrate the following with respect to x.

ex(a} —1)
22

° Watch Video Solution



https://dl.doubtnut.com/l/_qG5PgFUSTfMW
https://dl.doubtnut.com/l/_1WUWnIZp0Omn
https://dl.doubtnut.com/l/_2NGld1cv6vcn

3. Integrate the following with respect to x.

e’ secz(l + tanz)

° Watch Video Solution

4. Integrate the following with respect to x.

o 2 + sin2x
1 + cos2x

o Watch Video Solution



https://dl.doubtnut.com/l/_2NGld1cv6vcn
https://dl.doubtnut.com/l/_byW8hFDLQgel
https://dl.doubtnut.com/l/_WnUvcmjgkWbn

5. Integrate the following with respect to x.

tan 'z ].—I—ZU —|—CB2
€
1+ 2

° Watch Video Solution

log x

6. 5
(1+ logz)

° Watch Video Solution

Solution To Exercise 11 10


https://dl.doubtnut.com/l/_ZfSNersg4kz1
https://dl.doubtnut.com/l/_kuCRC0PHMMPJ

1. Find the integrals of the following :
1

4 — g2

° Watch Video Solution

2. Find the integrals of the following :

1
25 — 4x2

o Watch Video Solution



https://dl.doubtnut.com/l/_QtuqCWOQn0eE
https://dl.doubtnut.com/l/_gpDhCm0zrx4Q

3. Find the integrals of the following :

1
Or2 — 4

° Watch Video Solution

1

4,
6r — 7 — x2

° Watch Video Solution

1
(x+1)>—25

5.

° Watch Video Solution



https://dl.doubtnut.com/l/_8sCtynRLJlF7
https://dl.doubtnut.com/l/_1LcBZ9z2d6v3
https://dl.doubtnut.com/l/_Kx7CKLyhvAxq

1
.\/:132—|—4m—l—2

6

° Watch Video Solution

1

V(2+z) -1

7.

° Watch Video Solution

1
.\/x2—|—4w—|—2

8

| e


https://dl.doubtnut.com/l/_Kx7CKLyhvAxq
https://dl.doubtnut.com/l/_ZIssltrKzZv9
https://dl.doubtnut.com/l/_IMH42CvaroNQ
https://dl.doubtnut.com/l/_WeItBTdgncoc

¥ Watch Video Solution

1

0.
V9 + 8z — x2

° Watch Video Solution

Solution To Exercise 11 11

2r — 3

1.
x2 +4x — 12

° Watch Video Solution



https://dl.doubtnut.com/l/_WeItBTdgncoc
https://dl.doubtnut.com/l/_IvsPThPZhPL5
https://dl.doubtnut.com/l/_ZkKkoKanrKpp
https://dl.doubtnut.com/l/_iXT8K1xFLpbI

2. Integrate the following with respect to x.
5t — 2

dzx
2 + 2 + 2

° Watch Video Solution

3. Integrate the following with respect to x.

3r +1
2x2 — 2 + 3

O Watch Video Solution



https://dl.doubtnut.com/l/_iXT8K1xFLpbI
https://dl.doubtnut.com/l/_lvKx1Tqqjewj

4. Integrate the following with respect to x:

% + 1 2
Q) Tt i —= G
V9 + dx — x2 x2 —1
2¢ + 3
V2 +4x + 1

° Watch Video Solution

5. Integrate the following with respect to x.
x + 2

x2 —1

° Watch Video Solution



https://dl.doubtnut.com/l/_oxKzuliulFGQ
https://dl.doubtnut.com/l/_ofMloFfzrdwP

6. Integrate the following with respect to x.
2z + 3
Va2 +4x + 1

° Watch Video Solution

Solution To Exercise 11 12

1. Integrate the following functions with

respect to x:

Va2 + 2z + 10

° Watch Video Solution



https://dl.doubtnut.com/l/_i8IDhN1b0urM
https://dl.doubtnut.com/l/_fMBZPD89fG2J

2. Integrate the following functions with

respect to x:

\/zc2—2:13—3

° Watch Video Solution

3. Integrate the following functions with

respect to x:

V(6= 2)(z —4)

O Watch Video Solution



https://dl.doubtnut.com/l/_fMBZPD89fG2J
https://dl.doubtnut.com/l/_AGdl7iaMDBnL
https://dl.doubtnut.com/l/_ehXedBtcU8Uq

4. Integrate the following functions with

respect to x.

V9 - (2 +5)°

° Watch Video Solution

5./81+ (22 + 1)°

o Watch Video Solution



https://dl.doubtnut.com/l/_Fm0wIsIaeUWA
https://dl.doubtnut.com/l/_jKtIs0PRiL3d

6. Integrate the following functions with

respect to x.

V(@ +1)? -4

° Watch Video Solution

Solution To Exercise 11 13 Mcgs

1
1. if /3 dr = k(fﬁ) + ¢, then the value of k

w2

IS

A.log3


https://dl.doubtnut.com/l/_ix8NdJ287GZ6
https://dl.doubtnut.com/l/_ichGatwk8ywd

B. —log 3

1
a log 3
1
" log3

C.

D

Answer: C

° Watch Video Solution

2. If/f’(ae)e‘”zdaz = (z — 1)e* + ¢, then f (x)
is

2

A.2:133—%—|—:13—|—c


https://dl.doubtnut.com/l/_ichGatwk8ywd
https://dl.doubtnut.com/l/_jSjS4fVBzzC4

3

B.%—|—3a:2—|—4az—|—c

C.x3 +4z> + 6z + c

2333 9
D.T—x +x 4+ c

Answer: D

o Watch Video Solution

3. The gradient (siope) of a curve at any point

2

(xy) is ’ ;— - If the curve passes through
x

the point (2 , 7) , then the equation of the

curve is ,


https://dl.doubtnut.com/l/_jSjS4fVBzzC4
https://dl.doubtnut.com/l/_3obAx4ToFpAf

A +4—|—3
Y=+ —
4 Wi
4
B.y = — +4
Yy w+x+
Cy=xz’+3z+4

D.y=2x2>—3z+6

Answer: A

° Watch Video Solution

4./6( m)da:is

cos?(ze®)

A. cot(xze®) 4 ¢


https://dl.doubtnut.com/l/_3obAx4ToFpAf
https://dl.doubtnut.com/l/_bYN3dBkzPYrs

B. sec(ze”) + ¢
C.tan(ze”) + ¢

D. cos(xze”) + ¢

Answer: C

° Watch Video Solution

dx is

s [y

sin 2x

A./tanx + ¢
B.2\/tanx + c


https://dl.doubtnut.com/l/_bYN3dBkzPYrs
https://dl.doubtnut.com/l/_d9lUn7x2eo93

1

C. E\/tana: +c
1

D. Z\/tanzc + c

Answer: A

° Watch Video Solution

6. /sin3 xdx is:

—3 Cos 3x
A. Tcos:c — 15 +c
CoSs 3x
B. Zcosaz + 19 + c
-3 cos 3x
C.——cosx + + c

4 12


https://dl.doubtnut.com/l/_d9lUn7x2eo93
https://dl.doubtnut.com/l/_Nj1QbHYaNiyK

-3 sin 3x
D.—sinx —

+c

Answer: C

o Watch Video Solution

e6logac _ e5logac
7 [ dx
e logz __ e3loga:


https://dl.doubtnut.com/l/_Nj1QbHYaNiyK
https://dl.doubtnut.com/l/_SP1BxZesqWlN

Answer: B

° Watch Video Solution

secx ,
8. /—dw is
v/ cos 2z
A.tan" !(sinz) + ¢
B.2sin ‘(tanz) + ¢
C.tan '(cosz) + c

D.sin” *(tanz) + ¢

Answer: D


https://dl.doubtnut.com/l/_SP1BxZesqWlN
https://dl.doubtnut.com/l/_mK3RGBgPckou

° Watch Video Solution

/c 1 1—cos2:c ,
an T is

1 + cos 2:13
A.x2—|—c

B.2z% + ¢

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_mK3RGBgPckou
https://dl.doubtnut.com/l/_PwZCQWL7zvOG

10. /23‘” todx is

3(23:17 +5)

log 2
23.’,3 +5

B.
2log(3z + 5)
23$+5

C.
2log 3
23&7 +5

D.
3log 2

A.

+c

+ C

+c

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_PwZCQWL7zvOG
https://dl.doubtnut.com/l/_xjyGkIYDtkbu

sin®z — cos® )
11./ 5 dzx is
1 — 2sin“ x cos? x
1,
A. —sin2x + ¢

2

B. — Esin2a3 +c

1
C. Ecos 2r + ¢

D. — Ecos 2 + ¢

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PBvVDwp3gKuG

- /E‘” (:c2 tan 'z + tan " lx + 1)
. x2 +1

Aetan '(z + 1) +c

B.tan '(e®) + ¢

tan— ! £2)°
C.ex(an2w) + c

1

D.e®tan” "z + ¢

Answer: D

dx is

° Watch Video Solution



https://dl.doubtnut.com/l/_U77zKrzXUqKc

2 2

r° + cos“x

13./ cos ec’zdz is
x2 +1

1

A.cotx+sin™ " x + ¢

B.—cotx —|—tan_1az + c
C.—tanx + cot_laz + c

1

D.—cotxz —tan "o +c

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wvjVCsWuVUeP

14. /132 cos xdzx is:

A z?sinz + 2xrcosx — 2sinx + ¢
B.x2sinx — 2z cosz — 2sinx +c
C.—x?sinz + 2xcosx + 2sinx + ¢

D. —z%sinxz — 2z cos x + 2sinx + ¢

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GkxCM29w1rhr

1 2

+c
C.log’m+\/1—m2‘—\/1—x2—|—c
D.\/l—w2+log‘m+\/1—m2‘+c

B.sin=T = — /1 —=x

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_l54Ztfg9i3mR

16./ dz dzx is
e? —1

A logle® - logle® — 1| + ¢
B.log|e”| + logle®” — 1| + ¢
C.logle®” — 1| — log|e*| + ¢

D.logle” + 1| — log|e®| + ¢

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_PYw2Ne6Vw8GF

17. /94"” cos xzdzx is

6—433

17

6—433

17

6—4:1:

17

6—433

17

A. [4dcosz — sinz] + ¢

B.

| —4cosx + sinx] + ¢

C. [4cosx + sinz| + ¢

D. [ —4cosz — sinz] + ¢

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kaKm8kayJDl9

sec? ,
18./ dz is
tan?z — 1

1 —tanzx
1+ tanzx

1+ tanx
1 —tanx

C 11 tanx + 1 N
°20gtanzc—1 €

A. 2log

B. log

5 11 tanx — 1 n
'2Ogta11:13—|—1 €

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ccHkpciHBBCe

19.e8°72

6—7:15

74
— Tz

74

6—7:1:

74

6—730

74

A. [ — Tsinbxz — 5cos bz] + ¢

e
B.

[7sinbx + 5cos bz] + ¢

C. [7sinbx — 5cos bz] + ¢

D.

| — 7sinbz + 5cos bz] + ¢

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hK5MikeFkz9q

20. /332e§d:c is

A. m2e% — 4{136% — 86% +c
B. 2:1326% — 8ate§ +c

C. 2:[326% — 8336% + 16e§ +c

D :1;26 _r + - + c
' 2 4 8
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_mCqLcK8x6oJs

2
21./ Tt dzx is

V2 —1

Ar/z? —1— 2log‘:c + \/:132 — 1‘ +c
B.sin 'z — 210g’:c + Vz? — 1’ +c

C.210g‘:1: + \/:1:2 — 1‘ —sin tz + ¢

D.z? — 1—|—210g’a: + \/az2 — 1’ +c

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_F2DPltcZ0mfD

d:c is

22/
\/loga: —

A.log‘a: + /2 — 5‘ +c

B.log|logz + ,/logz — 5' +c

C.logllogz + \/(logm)2 — 5l +c

D. log|logz — \/(loga:)2 — 5| +c

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5385dI0ENpPd

23. /sin \/Eda: is

A.2( — /T cos /T + sin/T) + ¢
B.2( — /T cos/Z —siny/Z) +c
C.2( — y/zsin,/z — cos /Z) + ¢
D.2( — /Tsin,/z + cos \/T) + ¢

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1iHJOYAd3714

24, /9\/Eda: is

A.2\/5(1 — eﬁ) +c
B.2\/5(e\/5 — 1) +c
C. 26\/5(1 — \/5) +c

D. 26\/5(\/5 — 1) +c

Answer: D

° Watch Video Solution

Problem For Practice


https://dl.doubtnut.com/l/_O0Rvo178xdQ3

1. Answer the equation:

/ dx
sin? x cos? z

° Watch Video Solution

2. Answer the equation:

/\/1 + sin 2z

° Watch Video Solution



https://dl.doubtnut.com/l/_aB0fflgqSSkW
https://dl.doubtnut.com/l/_HakSHBqxOrV6

3. Answer the equation:

/62“" —1
—dx.
e + 1

° Watch Video Solution

4. Answer the equation:

sinx + sin2x
Ccos 2x + cos x

L

° View Text Solution



https://dl.doubtnut.com/l/_O0rj2iSMoF8F
https://dl.doubtnut.com/l/_d76XC8y8gvJK

5. Answer the equation:

/sin5 x - cos® xdzx

° Watch Video Solution

6. Answer the equation:

sin?
dx
cosb x

° Watch Video Solution



https://dl.doubtnut.com/l/_vLuiukDucSVx
https://dl.doubtnut.com/l/_1REl6NlM1Oe3

7. Answer the equation:

/azta,n1 rdx

° Watch Video Solution

8. Answer the equation:

/sin_ 1 rde.

° Watch Video Solution



https://dl.doubtnut.com/l/_dCSYmn0wOhK5
https://dl.doubtnut.com/l/_r78qbYf7YZ4i

9. Answer the equation:

fcanl( rta )daz
1 —ax

O Watch Video Solution

10. Answer the equation:

/\/1 —sinx
, dx.
1+ sinx

° Watch Video Solution



https://dl.doubtnut.com/l/_fbJ84BkhsqIc
https://dl.doubtnut.com/l/_PfVGcJxSpRdQ

11. Answer the equation:
an(3 — 4x)

dx
cos(3 — 4z)

° Watch Video Solution

12. Answer the equation:

/(am + z% + a)dx.

° Watch Video Solution



https://dl.doubtnut.com/l/_3PNrrtYnenAp
https://dl.doubtnut.com/l/_iXl38vQkfxwZ

13. Answer the equation:

/(2:136 + (ae)” —a™ " +€")dz

° Watch Video Solution

14. Answer the equation:

d
/ a dzx.
1+ cosx

° Watch Video Solution



https://dl.doubtnut.com/l/_8COFQDxySRyu
https://dl.doubtnut.com/l/_ZpGUUniRqWnp

15. Answer the equation:

/ 9dzx 2d:13.
(z — 1)(z + 2)

o Watch Video Solution

16. Answer the equation:

1+ 2
/ cz)s xda:

sin” x

° Watch Video Solution



https://dl.doubtnut.com/l/_rKn65eL3Kfno
https://dl.doubtnut.com/l/_ygTZs2ywEz2g

17. Answer the equation:

rz+1 rz—1
—3
/2 - dzx
§)

O Watch Video Solution

18. Answer the equation:

dzx
/\/am + 0 — y/axr + ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_uL9kv7Ywko8z
https://dl.doubtnut.com/l/_ikYisFQjOWno

19. Answer the equation:

/(233 + 3)+/2z + bdz

° Watch Video Solution

20. Answer the equation:
6x 4+ 5
V3z? + 5z + 6

dz.

° Watch Video Solution

21. fcan vsecxrdz :

(g


https://dl.doubtnut.com/l/_QzWxeAbrvsfc
https://dl.doubtnut.com/l/_P5qNqaQ0EiLN
https://dl.doubtnut.com/l/_KKYNOzR71C8P

\ ° Watch Video Solution

22. Answer the equation:

1
o
T+ \/x

° Watch Video Solution

23. Answer the equation:

° Watch Video Solution



https://dl.doubtnut.com/l/_KKYNOzR71C8P
https://dl.doubtnut.com/l/_kTD8alEz2YrL
https://dl.doubtnut.com/l/_0swHRuhiEz5X
https://dl.doubtnut.com/l/_kQaOMTAJvCtd

24. Answer the equation:

x6—1_|_ea3—1
/:ce—l—ew dx

° Watch Video Solution

25. Answer the equation:

/135xd:13

° Watch Video Solution



https://dl.doubtnut.com/l/_kQaOMTAJvCtd
https://dl.doubtnut.com/l/_LwrcqHNKe81w

26. Answer the equation:

/:132 cos 2xdx

° Watch Video Solution

27. Answer the equation:

° Watch Video Solution



https://dl.doubtnut.com/l/_8ma3SXgYnNMA
https://dl.doubtnut.com/l/_PwjE4eSHo9ve

28. Answer the equation:

/945" cos bx sin 2zdz.

° Watch Video Solution

29. Answer the equation:

/ dx
V6 — x — x?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZkEBdHyhSzfn
https://dl.doubtnut.com/l/_jEsa6igh2JhS

30. Answer the equation:

b — 2
/ * dx
x2 —x —2

° View Text Solution

31. Answer the equation:
3z +1
V2z? + 1z + 3

dzx

° View Text Solution



https://dl.doubtnut.com/l/_XgyWuKCsb8Ml
https://dl.doubtnut.com/l/_oitGa5WnRmzb

32. Answer the equation:

/\/wz — 3z + 10dz

° Watch Video Solution

33. Answer the equation:

_4f cosx —sinx
tan i dx
CoOSx + sinx

° Watch Video Solution

Problem For Practice Mcq



https://dl.doubtnut.com/l/_pxWCoMkDX7NN
https://dl.doubtnut.com/l/_zdLkkPAZYa94
https://dl.doubtnut.com/l/_FwR0LV4SajkC

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FwR0LV4SajkC

2. /sin3 x cos® zdzx

4 5

sin” x sin’ x
4 5
sin® sin®
4 6
sin 6 sin 4x
6 4
sin bx sin 4x
5 4
Answer: B

+ c

+c

o Watch Video Solution



https://dl.doubtnut.com/l/_wbCxzowB3aSY

8z +3
3. /§4$+3 de:
1 4x
A — 2
4 log8
1 28:{3
B. —
8 log4
16"
" log 2
(24)°
" log 24

+ c

4+ c

C + c

D

+c

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_J4YvgZyQ2reo

4./ da

cos +/cos 2z
A.tan"'(2z) + ¢
B.2sin '(sin2z) + ¢
C.tan '(cosz) + c

D.sin” *(tanz) + ¢

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Y8uWgapnVrh8

2 + sin? 5
5. sec” xdx

1+ z2
Atanz —tan 'z + ¢
B.tanz +tan 'z + ¢
C.tanz +sin 'z + ¢

D.tanz — cot 'z +c

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kqpV4R1PZucV

4 —x
6. d
/ i1z 7

A sin_1<%) 416 — 22 + ¢

B.sin_l(%) — /16 — 2% + ¢

C.sin 4z + V16 —x +c

D.sin 4z — /16 — 2% + ¢

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_0aRGcZOKWGV1

e’(1+ =z

7./ (2 )dm
sin”(ze®)
A.cos ec(ze®) + ¢
B. cos(ze®) + ¢

C. —cot(ze®) + ¢

D. cot(xe”) 4 ¢

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8AxfxY7XaqP4

an(3 + 4
8./t ( ©) dex:
cos(3 + 4z)
A.sin’(3 4 4z) + ¢

B.cos(3 + 4x) + ¢

tan(3 + 4z)
C. 1 + c

sec(3 + 4z)

D. 1 +cC

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_sJtFQt3YL6ED

X
1
9./6 _: dx :
e

Az —e *+c
B.x+e *+c
Cx+ec

D.e” + ¢

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aRaAqhQoId1T

10. Evaluate /(tan:v + cot z)*dz

(tanx + cot a;)3

A. 3 +cC

B.tanxz — cotx + ¢

C.tanx + cotx + c

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iCt17kjhiEGw

11. Evaluate: /em log2 o .

em

A +c

" log 2
B. (log2)e” + ¢

(2¢)"

C. + c
log(2e)

D.1+¢

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_g38Bo1ZjZjAJ

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_pqvxGZVpaiZp

1
13./ . dz :
1+ sinx

A.tanxz — secx + ¢
B.tanx + secx + c
C.cotx — cosecx + ¢

D.cot € + cosecx + ¢

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_bbXYzNsqQaIG

1 2
14./ TS AT
sin’ 2z

1
A. Ecotw + c

1
B.—Ecotw+c

1
C. Etan:z; +cC

1
D. — Etan:v +cC

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_59bqBYCSB5zY

15. Evaluate /\/1 + cos 2zdzx.

A \/2cotx + ¢
B.ﬁtanm +c
C.v/2sinz + ¢

D.\/2cosz + c

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FhKkdnol2pJN

1 2
o[ 1)

1
A.:I:—I—;—i—l-l—c

w2

1
B> +—+x+c
2 x

22

C.T—l—log:c—l—c

332

D.7+1oga;+2x—|—c

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_8bRN4eOBOml3

e’ + cosx
17./6( ) d

T +sinx + 2 v
A.logle® + sinz + 2| + ¢
B.logle” + cosz| + ¢
C.logle® —sinz + 2| + ¢

D.logle” + cosz — 1| + ¢

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_aEOny9B8RpJi

6 5
18. Tt dz :

V3z2 + 5z + 1

A. log(Bw2 + 5z + 1) +c

B.2y/3z’ + bz + 1+ ¢

C.v3z +5z+1+c

1
D.E\/3a:2—|—3a3—|—1—|—c

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UT0ePbzoB56V

19. /338(1 + 339)5d:13 :

1 6
A4—0(1‘|‘ﬂ39) +cC

1

6
B.E(l—kwg) + c

1 6
C.a(l%—a}g) + c

1 6
D4—5(1+$9) +c

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_s1ThjBa9sXYV

logtan x
20. [———dz:

sin 2x
A.log(sin2z) + c

B. log(tan2z) + ¢

1

E[log(tamﬂr:)]2 +c

1 2

Z(logtan z)” +c
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_A2b7Ry1OUhwC

etan_ T
21./ dx :
14 x2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_CuKfNZ9HCrBG

22. ﬁ:an \/secxdzx :

A.tanx + /secx + ¢

B.2,/secx + ¢

C.secx + ¢

D. /tanx 4+ ¢

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XY9xYG7spTeT

23. Evaluate: /exlogze“’daz

A (logz)® + 322 + ¢

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_I8MvIMeBOmZC

24./ dz :
xlogax

log x
A. 5 +c

T

B +c

"logzx

(logz)*
5

C. +c

D.log(logx) + ¢

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_iAb5CecNS6l0

25. Evaluate fz“‘ e*dx

(2e)$+1
z+1
er2”

" loge

A

ete”

C.
log 2

(2¢)”
D'log(Ze)

+c

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_0PVlV4feUnDX

26. / dz__ ..
5 — 3x

A.log(b — 3x) + ¢
1
B. glog(?;az —5) +c
1
C.— 510{;(5 —3x) +c

D.3log(5 — 3z) + ¢

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_6078FeXjVzmc

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wNoDL7Qjh4wW

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qedvnfzT2lAE

29, /eﬁdm is

A.2\/5(e\/5 — 1) +c

B. 26*/5(\/5 — 1) +c

C.Z\/E(l — eﬁ) +c

D. 26\/5(1 — \/5) + c

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VkL9HFhosLXS

mE ;
30. If/ > dr = k(mE) + cthen kiis:
T

A.logm

B.1 !
log| —

—1
" logm
1

" logm

C

D

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VTdijwuuoqMG

e710ga: _ e610g:1: .
31. dz is:
eblogz __ oblogz

Ax+c

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dnAjiQs3wp1e

dx .
32./{(10gx)2 . 4} IS:

1 lo
A. Etan_1< ;gw) +c

1
B. Elog(a: + \/(log:t:)2 + 4)

C.tan"1(logz) + ¢

D. log[logm + \/(loga:)2 + 4] +c

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PDgFP6uOTouc

33. /9“‘” sin bxdz is:

eaaz

oy (acosbx + bsinbz) + ¢
a

eaa:

Ca? + b2

ax

(asinbx + bcosbz) + ¢

€

o (acosbxr — bsinbz) + ¢
a

eaw

Ca 4+ b2

(asinbz — bcosbz) + ¢

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2hiQa3xuc8cn

34, /:ot xdx

A.log|sinz| + ¢
B.log|cos z| + ¢
C.cosec’z + ¢

D. —cos 602:13 + c

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ErUHdTKdJBJS

35. Match the following Column | to Column Il

PUN. -

ShE / _dx (a) loa(x + vx* - a? )+c

36. / - (b) log(x + m) +c

Va5
37. /—AZ—%; (4) —tan (%) te
38. f\_/;?(ﬁ (d) 1 10g<x ) e
3'9' /——xj’i7 (¢ ) sin™ (%)+c
55 0 dwlgt)e

° Watch Video Solution

36. Find the incorrect statement:


https://dl.doubtnut.com/l/_mpEnaklISSRH
https://dl.doubtnut.com/l/_dHekbp9kXuEv

Alf k is any constant that

/k f(z)dz = k /f(a:)dw

[CRSY)

(a — 2x)

B. /\/a — 2xdxr = — 3 + c

eaa}
C. /eamda: = +c

a

sin
D. dr = tanxsecx + ¢
Ccos2 x

Answer: D

o Watch Video Solution

37.Find the incorrect statement:


https://dl.doubtnut.com/l/_dHekbp9kXuEv
https://dl.doubtnut.com/l/_WOfEzLczkXwp

/[ (z) + g(z)|dz = /f(a:)da: + /g(zc)daz

6
B. der = 21 2
/3w—|—2 x og|3z + 2| + ¢

C. /f(a:) - g(x)dx = /f(:r:)dw : /g(:z:)da:

6233_1 N .
D. p de =¢e" +e * +ec

Answer: C

o Watch Video Solution

38. Find the correct statement:


https://dl.doubtnut.com/l/_WOfEzLczkXwp
https://dl.doubtnut.com/l/_SrETo8AgDTgx

A. fcana:daz = log|sinz| + ¢

B. /sec:cd:c = log|secx — tanz| 4 ¢

C. /J;((::)) dr = log|f(z)| + c

D.fncosa:dw = —gxsinxz + ¢

Answer: C

° Watch Video Solution

39. Find the correct statement:

A./a:sina:daz = —xcosx +sinx +c


https://dl.doubtnut.com/l/_SrETo8AgDTgx
https://dl.doubtnut.com/l/_y2TV4UdO9ZUU

B. /udv = uv + uvy + uvy + ... Where
u, U . .. Are successive derivatives of u

and v, v1, vy ... Are successive integer of

dv

/e"’c sin2xdr = %(sin 2 4+ 2cos2z) + ¢

dx 1 /=
= —tan (—) +c

D.
Va4 — 12 2 2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_y2TV4UdO9ZUU
https://dl.doubtnut.com/l/_0FapS1kHf2Qh

40. Evaluate: /d—a:
V14 x?

o Watch Video Solution

41. Find the odd man out:
/ dz
x? —

A log|lz| — loglz — 1] + ¢

B.log|z — 1| — log|x| + ¢

C ilo ‘:c2—:c‘+c
‘S g

D.log|z| + log|xz — 1| 4 ¢


https://dl.doubtnut.com/l/_0FapS1kHf2Qh
https://dl.doubtnut.com/l/_G625HzTdnGzD

Answer: B

o Watch Video Solution

1
42. (i) dv__ _ _sin—l(f) te
Ny — a a
. dzx (T
(ii) — tan (—) + c
a’ + x? a

(iii)

x+1 1 5
/:132—|—2:13—|—1dx = Elog‘(:p +2x+1)’

dx
. : 1
(iv) /a:(a: ) dx og

State which pair of the statement given above

r —1

‘—i—c
T

is true.


https://dl.doubtnut.com/l/_G625HzTdnGzD
https://dl.doubtnut.com/l/_ZefvQ6hqBRFV

A. (iii) and (iv)

B. (i) and (ii)

C. (i) and (iii)

D. (ii) and (iv)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ZefvQ6hqBRFV

